
§i*.|y Výchozíc€na ťC) Užitná plocha (UP) (ml

Redulsovená c-cna (RC) plochapozcmku §í) (n')

&* Kqr.*r, R-w K;p &,n, Jcdaotková ccna §C) Váha (V)

BD Věí|oá 4 449 000p0 Kč ó€
4 004 100,00 Kč 1039

1 0J8 1 1,8ó 090 ó 73438 Kč 1

rO Č nuaríovicc-Vodní 3 200 000,00 Kč 141

2 880 000,00 Kč 189

*á§ 0.68 1 0,43 0.1ó 3 34ó.42Kř 1

*§Ůfudriwice7 3 200 000,00 Kč t80

2 880 000,00 Kč 4ft
#-3 0,83 1 0.52 0J9 5 484.80 Kč 1

l§ Č Eudaiďice_ PeprcnekÁ 3 890 000,00 Kč 128

3 501 000,00 Kč |43

0J8 1 037 0.12 476lJ2K:č 1

rS ar,{údnict[ Ča 2 990 000,00 Kč 150

2 ó91 000,00 Kč 526

§.83 1 0"44 0,45 5 970.,t0 Kč I

kdeJ! = §C /,P: §*o x K,óary X K*-l*, x (Kr_,p + t$ua,y)/2)


